SAT PREP
Assignment : AP CALCULUS BC TEST (Limit and Continuity)

Part A. Directions: Answer these questions without using your calculator.
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Part B. Directions: Some of the following questions require the use of a graphing
calculator.

1. The function f(x) = {IZ/x (x=0)
0 (x=0)

(A) is continuous everywhere

(B) is continuous exceptat x =0

(C) has a removable discontinuity at x =0
(D) has an infinite discontinuity atx =0
(E) has x =0 as a vertical asymptote

Q2 and Q6 are based on the function f shown in the graph and defined below:

2. lin;nf(.r)

(A) equalsO (B) equals 1 (C) equals2
(D) does not exist (E) none of these

3. The function f'is defined on [-1.3]

(A) ifx#0 B) ifxzl (C) ifx#2
(D) ifx#3 (E) ateachxin[-1.3]

4. The function [ has a removable discontinuity at

(A) x=0 @ K= (C) ui=F (D) x=3

5. On which of the following intervals is f continuous?

(A) -1=sx=<0 B) 0O<x<l C 1sx=<2
(D) 2=<x=<3 (E) none of these

6. The function [ has a jump discontinuity at

-1 (B) x=1 (C)y" =P
3 (E) none of these
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(E)

none of these
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